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உ��யà/BIOLOGY 
(த�â வ� மä²Ý ஆÕxல வ�/ Tamil & English Medium) 

 

கால அள¶: 3.00 ம~ ேநரÝ                                                                    ெமாÚத ம�ÜெபÙகã : 70 

Time Allowed : 3.00 Hours                                                                      Maximum Marks :70 

 

அ�¶ைறகã:  (1)    அைனÚ« �னாÔக´Ý ச�யாக ப�வாx உãளதா எåபைத  

                                                ச�பாßÚ«Ô ெகாãள¶Ý. அÖ¦Üப��à ¤ைற�±Ü�å  

                                               அைறÔகÙகா~Üபாள�டÝ உடன}யாக ெத��Ôக¶Ý. 

                                      (2)      �லÝ அàல« க±Ü® ைம�ைன மØ©ேம எµ«வதä¤Ü  

                                                  பயåப©ÚÚ ேவÙ©Ý. படÕகã வைரவதä¤Ý  

                                               அ}Ôேகா}©வதä¤Ý ெபåzà பயåப©Úத¶Ý. 

Instructions:      (1)   Check the question paper for fairness of printing. If there is  

                                               Any lack of fairness, inform the Hall Supervisor immediately.)  

                                       (2)  Use Blue or Block ink to write and underline and pencil to  

                                    draw diagrams 

¤�Ü®:                 ப¤�-1 (உ��-தாவர�யà), ப¤�-II (உ��- �லÕxயà) த�Úத�  

                                   �ைடÚதா�ல �ைடய�Ôக¶Ý.  

Note :                    Candidate should answer Part-1  (Bio- Botany) Part-II (Bio-Zoology)  

                                    in separate answer-books. 

: 

ப¤�- I (உ�� - தாவர�யà)  PART-I (BIO- BOTANY) 

(ம�ÜெபÙக ã:35)/ (Marks: 35) 

��¶-1 /SECTION -1 

¤�Ü®:   (i) அைனÚ« �னாÔக´Ô¤Ý �ைடய�Ôக¶Ý.                                 8x1=8 

                     (ii) ெகா©ÔகÜபØ©ãள நாå¤ மாä² �ைடக�à �க¶Ý ஏä®ைடய   

      �ைடையÚ ேதßÛெத©Ú«Ô ¤��Ø©டå �ைட�ைன°Ý ேசßÚ« எµத¶Ý 
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(i) Answer all the questions  

(ii) (ii) Choose the most appropriate answer from the given four alternatives 

and write the option code and the corresponding answer 

1. ஆ×zேயாæெபßÝக�å ஆÙ ேக�ேடாைபØ}å ¯தà ெசà  

(அ) க± ஊÙ �¦  (ஆ) ¬Ù �Ú«  (இ) ெப± �Ú«  (ஈ) உØக±  

First cell of male gametophyte in angiosperm is  

(a) Primary endosperm (b) Microspore (c) mega spore (d) Nucleus 

2. எ« அ}Ôக} ஒ± "மரபª ெவ�Üபா© அ��Üபாளß" க±�யாக 

பயåப©ÚதÜப©xற«? 

(அ)  GMF (ஆ) வØட வ}வ ®ரதÝ  (இ) GFP (ஈ) PLA  

Which is frequently used as reporter of expression 

(a) GMF (b) Circular protein (c) GFP (d) PLA  

3. ஓேசா�å த}மைன அள�©Ý அல¤ 

(அ) டாÜசå  (ஆ) ஜூà  (இ) வாØ  (ஈ) xேலா 

The unit for measuring ozone thickness  

(a) Dobson (b) Joule (c) watt (d) Kilo 

4. �லேவÝ® ----------------- ¤©ÝபÚைத ேசßÛத« 

 (அ) அÔகாÛதாz (ஆ) Ãஃேபாß�ேயz (இ) ைவØேடz (ஈ) ேல�ேயz  

Nilavembu belongs to the family 

 (a) Acanthaceae (b) Euphorbiaceae (c) Vitaceae (d) Lamiaceae  

5. ஒ± மரபª�å இ± ேவ²பØட வ}வÕகã/ வ}வÝ  

(அ) மரபª ெதாைகயÝ (ஆ) அà�àகã (இ) மரபª வைகயÝ (ஈ) மர®¤�யå 

Alternative forms of a gene are/is called: 

(a)  Genome  (b) Alleles (c) Genotype (d) Genetic code  

6. தாவர �¦ வளßÜ�à �டÜப©Ú«Ý கார~யாக பயåப©ÚதÜப©வ« 

(அ) �Ôேகா}�Ô அ�லÝ (ஆ) ேகாபாàØட æ ¤ேளாைர© (இ) EDTA (ஈ) அகாß 

Solidifying agent used in plant tissue culture is  
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(a) Nicotinic acid (b) cobaltous choloride (c) EDTA (d) Agar  

7. ஓரபாÕx எåப« (அ) மØ¤Ù~ (ஆ) தäசாß®ைடய« (இ) பா� ஒØ©Ù~ (ஈ) 

¯µ ஒØ©Ù~ 

 Orabanche is a (a) Saprophyte (b) Autotroph (c) Partial parasite (d) Total parasite 

8. தாவர ப�ß ெப±ÔகÚ�å பழைம மä²Ý அ}Üபைட ¯ைற 

(அ) அ�¯கÜப©Ú«தà (ஆ) ேதßÛெத©Úதà (இ) கலÜ�னமாதà (ஈ) ச©�மாäறÜ 

ப�ß ெப±ÔகÝ  

The oldest and basic method of plant breeding is:  

(a) Introduction (b) Selection (c) Hybridization (d) Mutation Breeding hennai 

��¶-2 /SECTION-2 

¤�Ü®: �âÔகாªÝ �னாÔக�à எேத­Ý நாå¤ �னாÔக´Ô¤ மØ©Ý  

                   �ைடய�                                                                                                                                               4x2=8  

Note: Answer any four of the following questions 

9. பà·Ø© அà�àகã - வைரய²Ôக¶Ý 

Define multiple alleles.  

10. மரபª மாäறÚ�ä¤ பயåப©ÚதÜப©Ý ேவ�Üெபா±Øக�å ெபயßகைளÔ 

·²க. 

Name the chemicals used in gene transfer.  

11. ·Ø© ப�ணாமÝ எåறாà எåன? 

What is Co-evolution?  

12. ஆäறà �ர�Ø எÜேபா«Ý ேநரானைவ காரணÝ ·²க. 

Pyramid of energy is always upright. Give reasons.  

13. கzÛேதா©தà எåறாà எåன? 

What is Leaching?  

14. ைரேசா�யÝ பாÔ��யாைவ மÙ~à இ©Ýேபா« எåன �கµÝ? 

What will happen when Rhizobium bacteria is applied to the soil? 
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��¶- 3 /SECTION-3 

¤�Ü®: �âÔகாªÝ �னாÔக�à எேத­Ý Âå² �னாÔக´Ô¤ 

�ைடய�Ôக¶Ý.                                                                                                                                         3x3=9 

�னா எÙ 19-Ô¤ கØடாயமாக �ைடய�Ôக¶Ý.  

Note: Answer any three of the following questions. Question No.  19 is 

compulsory. 

15. பà க±�ைல�å நைடைறÜ பயåபா©கã ஏேத­Ý Âå² எµ«க. 

Write any three practical applications of polyembryony 

16.ம�தனாà உ±வாÔகÜபØட தா�யÚ�å ெபயைர எµ«க. இ« எáவா² 

உ±வாÔகÜப©xற«. 

Mention the name of man -made cereal. How it is formed  

17.ப¦ைம இàல �ைள¶ எåறாà எåன? ப¦ைம இàல வா°Ôக�å சாß® 

பÕக�Ü�ைன படÝ வைரக.  

What is Green House Effect? Draw the relative contributions of green house 

gases.  

18. உைற ¤�ß ப«காÜ® பä� எµ«க. 

Give an account on cryo preservation  

19.®� வா�டÝ மä²Ý ெசயà வா�டÝ- ேவ²பா©கã ÂÙ�ைன எµ«க.  

Write the difference between Habitat and Niche 

��¶-4 /SECTION-4 

 ¤�Ü®: அைனÚ« �னாÔக´Ô¤Ý �ைடய�                                                                2x5=10 

Note: Answer all the questions 

20. (அ) மரபªÔக´Ôxைடேய �கµÝ இைடÖெசயைல உதாரணÚ«டå 

�வ�Ôக¶Ý.  

(அàல «) 

 (ஆ) உ�ß ெதா�à ¬Øப�ய�å ஐÛ« பயåபா©கைள எµ«க.  

(a) Explain Intergenic Interaction with an example 
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(OR) 

(b) List out any five applications of Biotechnology. –  

21. (அ) வாâவதä¤  �ß �க ¯ÔxயÝ. காரணÝ த±க.  வறÙட  ¹ழ³Ô¤ 

ஏäறவா² தாவரÕகã எáவா² தÕகைள தகவைமÚ«Ô ெகாãxற«? (நாå¤ 

தகவைமÜ®கã) 

(அàல «) 

(ஆ) (i) த�âநாØ}å மா�ல மரÚ�å தாவர�யà ெபய�ைன எµ«க. 

            (ii) அதå �றÜ�டÝ யா«?  

            (iii) அதå பயåகã Âå�ைன எµ«க. 

             (a) Water is essential for life. State the reason. Write any four features for 

plants which enable them to survive in water scarcity environment. 

OR 

(b) (i) Write the botanical name of state Tree of Tamil Nadu. 

       (ii) From where it is originated? 

         (iii) Write its three uses. 

ப¤�- II (உ�� - �லÕxயà ) PART-II (BIO- ZOOLOGY) 

(ம�ÜெபÙக ã:35)/ (Marks: 35) 

��¶-1/SECTION -1 

¤�Ü®:   (i) அைனÚ« �னாÔக´Ô¤Ý �ைடய�Ôக¶Ý.                                    8x1=8 

                     (ii) ெகா©ÔகÜபØ©ãள நாå¤ மாä² �ைடக�à �க¶Ý ஏä®ைடய  

      �ைடையÚ ேதßÛெத©Ú«Ô ¤��Ø©டå �ைட�ைன°Ý ேசßÚ« எµத¶Ý 

(i)      Answer all the questions 

(ii) Choose the most appropriate answer from the given four alternatives and 

write the option code and the corresponding answer 

1. உ²�Ô·ä²: பா�லா இனÜெப±ÔகÝ ÂலÝ உ±வா¤Ý ேசÞகã 

ெபäேறாைர ஒÚத மர�யà பÙ®கைளÔ ெகாÙ}±Ô¤Ý  
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காரணÝ: பா�லா இனÜெப±ÔகÚ�à மைற¯கÜ��¶ மØ©ேம 

நைடெப²Ý  

(அ) 'உ' மä²Ý 'கா' இரÙ©Ý ச� 'கா' எåப« 'உ' �å ச�யான �ளÔகÝ 

(ஆ) 'உ' மä²Ý 'கா' இரÙ©Ý ச� 'கா' எåப« 'உ' �å ச�யான �ளÔகÝ 

அàல  

(இ) 'உ' உÙைம 'கா ெபாÞ 

 (ஈ) 'உ' மä²Ý 'கா' இரÙ©ேம ெபாÞ  

Assertion: Offsprings produced by asexual reproduction are genetically 

identical to the parent.  

Reason : Asexual reproduction involves only mitosis and no meiosis 

 (a) A and R are true and R is correct explanation for A  

(b) A and R are true and R is not the correct explanation for A  

(c) A is true but R is false 

 (d) Both A and R false 

 

2. ெபா±Ú«க  

(1) தா�ரÝ ெவ��© 

IUD  

(2) ஹாßேமாå 

ெவ��© IUD  

(3) ம±Û�àலா IUD 

 

  (i)LNG-20)  

   (ii) �Üபæ வைளய 

IUD 

(i) சாெஹ�  

(ii) Multiload-375 

 

(i) 1-iv 1-iv 1-iv 1-i 

(ii) 2-i 2-ii 2-i 2-iv 

(iii) 3-ii 3-i 3-iii 3-ii 

(iv) 4-iii 4-iii 4-ii 4-

iii 

(4) மாÚ�ைரகã  
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Match the following: 

 

(1) Copper releasing 

IUD  

(2) Hormone releasing 

IUD 

(3) Non Medicated 

IUD 

 (i) LNG-20) 

 (ii) Lippes Loop IUD  

(iii) Saheli  

(iv) Multiload-375 

 

 

1-iv 1-iv 1-iv 1-i 

2-i 2-ii 2-1 2-iv 

3-ii 3-1 3-ili 3-ii 

4-iii 4-iii 4-ii 4-iii 

(4) Mini Pills 

 

3. ELISA ¯தåைமயாக எதä¤ பயåப©xற«  

அ) �±ÝபÚதÔக பÙ®கைள°ைடய �லÕ¤கைளÚ ேதß¶ ெசÞய  

ஆ) ��ßமாäறÕகைள கÙட�ய  

இ) �±ÝபÚதÔக பÙ®கைள°ைடய தாவரÕகைள ேதß¶ ெசÞய  

ஈ) ேநாÞ x±�கைள கÙட�ய 

ELISA is mainly used for  

a) Selecting animals having desired traits  

b) Detection of mutations  

c) Selecting plants having desired traits 

 d) Detection of pathogens 

4. வா�ட �ர��னாà �க க©ைமயான பா�Ü®க´Ô¤ உãளாx அ�°Ý 

�ைல�à உãள �லÕxனÝ எ«?  

(அ) ¯Øேதா�கã  

(ஆ) பாÆØ}கã  

(இ) பைறைவகã  

(ஈ) இ±வாâ�கã  
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Which one of the following are at high risk of extinction due to habit 

destruction?  

(a) Echinoderms (b) Mammals (c) Birds (d) Amphibians  

5. ¯�ßÛத �Û« ெசàகã ேசக�ÔகÜப©Ý இடÝ:  

(அ) �Ûதக ேமà ¦±ã ¤ழà (ஆ) �ÛÚக ¬Ù ¤ழàகã (இ) ®ேராæேடØ ¦ரÜ� 

(ஈ) �Û« நாளÝ  

The mature sperms are stored in  

(a) Epididymis (b) seminiferous tubules (c) prostate gland (d) vas deferens 

6. (�å      B      mRNA       C    ெநா� 

ேமேல உãள பட க±Ú«±�à A, B மä²Ý C ஆxயவäைற கÙட�க  

(அ) A- ப}ெய©Úதà, B- ெமா�ெபயßÚதà, C- இரØ}Üபைடதà  

(ஆ) A- ெமா�ெபயßÚதà, B- ப}ெய©Úதà, C- இரØ}Üபைடதà  

(இ) A- இரØ}Üபைடதà, B- ெமா�ெபயßÚதà, C- ப}ெய©Úதà  

(ஈ) A- இரØ}Üபைடதà, B- ப}ெய©Úதà, C- ெமா�ெபயßÚதà 

 

Gene   B       mRNA     C     Enzyme 

 (a) A- Transcription, B- Translation, C- Replication  

(b) A- Translation, B- Transcription, C- Replication  

(c) A- Replication, B- Translation, C- Transcription  

(d) A- Replication, B- Transcription, C- Translation 

7. �âகÙடவä�à எÛத ஒå² �°ேகா } ���å பÕக�Ü®  

(அ) ¯யå² ெபäற பÙ® மர®Ü பÙபாதà ேகாØபா©  

(ஆ) ��ß மாäறÚ ேதß¶Ô ேகாØபா©  

(இ) வளßக± �ளாசÔ ேகாØபா©  

(ஈ) இயäைகÚேதß¶Ô ேகாØபா©  

Which of the following was the contribution of Hugo de Vries?  

(a) Theory of inheritance of acquired characters  
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(b) Theory of mutation  

(c) Germplasm theory  

(d) Theory of natural selection  

8. எ-ேகாைல ைய �ட சாÔகேராைமஸæ சß��ேய ம²ேசßÔைக 

இÙடßஃெபராåகைள உäபÚ� ெசÞவ�à zறÛத« ஏå?  

(அ) உ��ய ெநா�கல�à எ.ேகாைலைய பயåப©Úத ¯}ய«  

(ஆ) ®ரதÕகã உäபÚ�Ô¤ �ளாæ�Ø©கã எ.ேகாைல �à இàைல  

(இ) ®ரதÕகைள சßÔகைரேயäறÝ அைடய ைவÔகÚ ேதைவயானஇயÕ¤தளÝ 

எ.ேகாைல�à இàைல  

(ஈ) ®ரதÕகைள உäபÚ� ெசÞவதä¤Ú ேதைவயான எ.ேகாைல எ��à 

xைடÜப�àைல  

Why Saccharomyces cerevisiae is more suitable for production of recombinant 

interferons then E.coli? 

(a) E.coli cannot be used in bio-fermentor.  

(b) E.coli does not have suitable plasmid for the production of proteins 

 (c) E. coli does not have the machinery for the production of proteins  

(d) E.Coli is not easily available for the production of proteins. 

��¶- II /SECTION- II 

¤�Ü®: �âÔகாªÝ �னாÔக�à எேத­Ý நாå¤ �னாÔக´Ô¤ மØ©Ý 

�ைடய�                                                                                                                                                            4x2=8 

Note: Answer any four of the following questions  

9. ம�த �Û« ெசà�å அைமÜைப படÝ வைரÛ« பாகÕகைளÔ ¤�Ôக¶Ý 

Draw and label the parts of human sperm cell  

10. ப�Ô¤டÚ «ைளÜ® எåப« யா«? 

What is Amniocentasis.  

11. ெசயலாÔக ேநாÞÚதைடÔகÜ® மä²Ý மÛதமான ேநாÞ தைடÔகாÜ® 

ஆxயவä�äxைடேய°ãள ேவ²பா©கã இரÙ}ைன எµ«க.  
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Write any two differences between active and passive Immunity  

12. "ெதா�à«ைற ஆàஹாà" எå² ¤�Ü�டÜப©« எ«? ஏå? 

Which is referred to as Industrial alchohol? Why?  

13. ஓ�டÚ தåைம - வைரய²Ôக¶Ý 

Define - Endemism.  

14. ெசåைன�³ãள பல ப¤�க�à காகÕகã ¤ைறÛ«, ®றாÔக�å 

எÙ~Ôைக அ�க�Ôxற«. இ« எáவைக வா�ட இழÜ®? அைத 

வைரய²Ôக¶Ý.  

ON In many parts of Chennai, number of doves increases rather than crow. 

What type of habitat loss it is? Define. 

��¶- III /SECTION- III 

¤�Ü®: �âÔகாªÝ �னாÔக�à எேத­Ý Âå² �னாÔக´Ô¤ 

�ைடய�Ôக¶Ý.                                                                                                                                            3x3=9 

�னா எÙ 19-Ô¤ கØடாயமாக �ைடய�Ôக¶Ý.  

Note: Answer any three of the following questions. Question No.  

19 is compulsory 

 15. வாடைகÚ தாÞைம எåறாà எåன? 

What is meant by Surrogacy? 

 16. ைதமæ ¦ரÜ� ¦ரÔ¤Ý ஹாßேமா�å ெபயß எåன? அÛத ஹாßேமா�å 

ப~கã இரÙ}ைன எµ«க.  

Name the hormone secreted by Thymus gland and mention two functions of 

that hormone.  

17. ¬Ùª��ய எ�ெபா±ã கலå பä� z² ¤�Ü® வைரக. 

Write short notes on microbial fuel cell  

18. உடä ெசà மரபª zxÖைசைய, இனÖெசà மரபª zxÖைச��±Û« 

ேவ²ப©Ú«க. 

Differentiate somatic cell gene therapy from germ line gene therapy  
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19. ஒ± சாதாரண ஆªÔ¤Ý (XY-) £ேமா��யா கலÜ®äற ெபÙªÔ¤Ý (x+Xh) 

இைடேய �±மணÝ நைடெபäறாà F1 மä²Ý F2 ¯}¶கã எáவா² இ±Ô¤Ý? 

ஓØட வைரபடÝ வைரக  

If a marriage occurs between normal man (XH Y.) and heterozygous haemophilic 

woman (XH Xh), what would be the result of F1 and F2? Draw flow chart. 

��¶-V/ SECTION-V 

¤�Ü®: அைனÚ« �னாÔக´Ô¤Ý �ைடய�                                      2x5=10 

Note: Answer all the questions                                                                                                       

20.(அ) ம�த�à க±¶²தà ெசயà¯ைறைய �ளÔx, பல �Û« ெசàகளாà 

க±¶²தà எáவா² த©ÔகÜப©xற« எåபைத°Ý �ளÔ¤க.  

(அàல«) 

(ஆ) ேஜகÜ மä²Ý ேமானா© வழÕxய ேலÔ ஓபராå மா��ைய �ளÔ¤க  

(a) Explain the process of fertilization and prevention of polyspermy in human 

OR 

(b) Explain the classical model of Lac Operon, proposed by Jacob and Monad  

21. (அ) மÙ~å பÙ®கãபä� ெதா¤Ú« எµ«க  

(அàல«) 

(ஆ) ெகாேரானா ேபாåற ெதாä² ேநாைய ¯å ·Ø}ேய கÙட�வதä¤ 

பா�மேரæ சÕx� �ைன பய­ãளதா¤Ý. �வ� 

(a) Give an account of the properties of soil. 

(OR) 

(b) PCR is a useful tool for the early diagnosis of an infectious disease like corona. 

Elaborate. 

 


